(step function)

s(x)=s, if x_,<x<x,k=123...,n

s0x=35, -5 -x,.)
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f(x) [a.b] s f(x)

S(x) < f(x) <t(x)

| s(x)  f(x
jb‘s(x)dx <|< Jtlt(x)dx I f(x) | = T f (x)dx
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f(x)>0,xe[a,b] _Tf(x)dx f(x) x

f(x)<0,xela,b] Tf(x)dx f(x) x
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A:Tf(x)dx A:—Tf(x)dx

T f(X)dx = _jz f (x)dx
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2) T f(x)dx+j f (x)dx:j f (X)dx

3) Tf(x)dx: jf(x—c)dx

a+c

b 1kb X
4) .£f(x)dx:EkJ;f(E)dx,k¢0

5) If g(x)<f(x) for xelab] then Tg(x)dxsff(x)dx
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F(x) = j f (t)dt

c

T f (t)dt :T f (t)dt —T f (t)dt

=F(a)-F(b)

=F(x)

b
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A(x)zjx'f(t)dt = A(X)= (X

c

P =f(x) = P(x)=P(c)+JX'f(t)dt
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1. | x"dx 2. |—=dx 3. |sinxdx
| IR |
“x*+x-3 "

4. [Z=00x 5. [(@++/x)%dx , x>0
a X a

x2 t6

6. f(X) = dt f'(x
=], 1 (%)

7.

f(x)=x*-2
= g(¥)=x/2

8.

() =x



a (integration by substitution)

F'(x) = f(X)
j f(x)dx = F(X)+c
p(x) = F(g(x)) p'(¥) = F(9(x))9'(x)

[ (909)g'(¥)dx = p(x)+c

J'3x2 cos(x®)dx
g(x)=x*, f(x)=cosx, F(X)=sinx

j 3x? cos(x%)dx = j f(g(x)g'(X)dx = sin(x®) + ¢

u=g(x)

jf(u)%dx=F(u)+c

= j f (u)du

Ix?’ cos(x")dx a .

b. Icos2 X sinx dx

C. jg:]/_;/;dx
d.j X dx

V1+ %2



integration by parts

L (10990)= (X900 + TR
[ £/09909dx+ [ ()" (¥dx = f(x)g(x)+c

J 099 09dx= (9900~ [ f'(9g(cx+c

a jxcosx dx
f(xX)=x ,g(X)=sinx , g'(x)cosx
j X cosxdx = j f(x)g'(x)dx = f (X)g(X) - j f/(X)g(X)dx +c
=xsinx—jsinxdx+c
= XSIN X+ COSX+C

b. Ixzcosxdx
:J'xzi(sinx)dx:xzsinx—'[ZXSinxdx+c
dx
, d
=X smx+2'|.x—(cosx)dx+c
dx

= x2sinx+2 [xcosx—_[cosx dx+ ¢’ J+c

a) Isinxcosxdx b) Ignzx dx
C) j X £ogx dx d) I x2e* dx
€) jexsinxdx f) jlf)((ex



jf(x)dx:(b—a) < f(x) >

<f(x)>=£2f(xi) , X isarandom number in [a, b]
)



